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1. The sums of the following WO Séries

1-9*374 " and gos oy
are :
(A) 0 and 3 respectively (B) log 2 and 0 respectively
(C) log 3 and 2 respectively (D) log 2 and % respectively
QA s 1*%%-%-"._ o 2—2—+§a—~+..i. F I FEA
A 07m3E B) log 2 den %
(C) log 3 e 2 ¢ (D) log 2vaar v ¥

2.
Ramesh, Abdul and Antony started ‘4 business with a total investment of

Rs. i '
72,000. Ramesh invests Rs.46,000 more than Abdul and Abdul invests

Rs. 3,0 | | '
00 less .than Antony. If the total profit at the end of the year is
Rs. 8,640, then Ramegh'y share is - | ' |

(A) Rs. 3,200 (B) Rs. 3,240

(C) Rs. 3,210 (D) Rs. 3,220

W:@““‘Mﬂzmua%ﬁaﬂ%mﬁwwm:rim-ir

6,000 .

Eon m%mHma@ﬁQﬁﬁS.ﬁﬂﬁﬁmﬁﬂﬂﬁr&|
mﬁ%ﬁ-ﬂﬂﬁmmﬁ-ﬂamﬂﬂﬁmﬁz

(A) 3,200 w.
(B) 3,240 %
(C) 3,210 =.
7 D) 3,220 T.
TBC :.23/P1I—A |
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TBC [ 23/P11—A

Shalini has to secure 36 percent marks o pass. She gets 150 marks and f2ils
by 30 marks. The maximum marks
are :
(A) 500 (B) £40
‘ 54
(C) 580 R S

ﬂlrﬁ#lﬂ:’lﬂ‘s’ﬁ%ﬁqﬂﬁ%a&mmhﬂﬁoﬁﬁ _

B Wt &, 7@ afusam siF § .

(A) 500 - (B) 540

(C) 580 D) 6060
The profit earned after selling ansarticle for Rs. 1,666 is the same 22 the

loss incurred after selling the drticle for Rs. 1,252. Then theimst price of the

article is :
(A) Rs. 1,400 (B) Rs. 1,425
(C) Rs. 1,459 (D) Rs. 1,469

ﬁ&ﬂ#ms“rﬁihaﬂmﬂmqﬁt:

(A) 1,400 %. (B) 1,425 =
(C) 1,459 & (D) 1,469 =.
3
PTO



i in 6 years ?
5. At what rate percent per 0"™™ Will o gum of money double

(A) 12% (B) 16%
(C) 49/3%, | (D) 6o
R A W g od A AT VM7 '
(A) 12% (B) 16%
(C) 493% (D) 5013%

6. The number of diagonals of a Polygon of 12 sides is

(A) 48 (B) 54
(C) 60 (D) 66
12 1 99 @ ° fawol #1 Gen § .

(A) 48 (B) 54
(C) 60 (D) 66

7. Rohit is facilfg South. He turns r.igﬁt and walks 20 meter. Then he turns nght
again and walks 10 meter. Then hé turns left and walks 10 meter and then
turning right walks 20 metef..Then he turns right again and walks 60 meter
In wh_ich directions ishe 'from the ‘starting point ?

(A) North-West (B) East
(C) North-East (D) North

mmwmﬁ%rﬁmwgnﬁmmtumwmmm
HWloﬁamtlmagwmgmlﬂﬁmm?mmmw

2Uﬁamtlagmaqmzpﬁm§gmﬁnﬁmmhﬁwmﬁﬁzﬂ
Ha =% f6a fom i ¢ -

(C) IR-q= , (D) I
TBC : 23/Pl—A p
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8. If 3 men and 4 boys complete a work in 7 days and 2 men and 3 boys do

the same work in 10 days, then 3 men ang 8 boys will complete the same work

“n
(A) 3 days . (B) 4 days
(C) 5 days (D) 6 days

I TE FH F 3 T A 4 e 7 iy § @ HW@ £AD 2,759 qwr 3 GIH
IH FH F 10 7 F qm wm@ £, 99 3 g 9B\ ORS @ W & W@
wHA | | .
(A) 3 f3 & _ (B) .4 foq H
(C) 5 3 # D), 6 fz7

9. In a school, 391 boys and 323 gitlsshave been divided into the largest possible
equal classes so that each.clags of boys number is same as each class of girls.
Then the number of ¢lasses is :

- (A) 17 : (B) 51

(C) 68 | D) 39 .
T faarea 4 391 orF am 323a?ﬂsﬂmﬂﬁlmmwmﬁﬁmﬁmﬁ'a;
T I ¥ R owdw wan § ol 1 S€W 99 oS 8 gem 9ue T Femal

_EF?I ?‘.:I-'@ﬂ % .
L (A) 17 (B) 51 N
(C) 68 | D) 39

TBC : 23/P/11— 5
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10.

11.

A watch ticks 90 times in 95 seconds and another watch ticks 315 timon |

323 seconds. If both the watches are started together, how many timos wi

both the watches tick together in first hour ?

(A) 100 times ‘ (B) 101 times

(C) 102 times (D) 108 times
ﬁﬂ@ssmﬁsommm%wmwﬁ%mﬁ 316 W fow

= ¥ AR T el W 7w g few o, @ e R § A W e
ar fe =60 2

(A) 100 =R | (B 101 SR

(C) 102 =R . | (@ 103 TN

If the polynomials p,3 ,3,%~g"and 2¢3 _5x+P are divided by x — 4, then

same remainder come$. The value of P is :

(a) 0 (B) 1

- (©) 2 D 3

‘qﬁ:ag'qﬁ P:c3+3_.r2—3 g .'3.’.:r3--5:x:+I"'ﬁ“-"-"4ﬁ WWWWWW
@ P® 9L : '
@4 o0 (B) 1

(C) 2 ] D) 3

TBC.: 23/PMI—A - 6



12. The value of (1/5in10°)-3sec10® is -

13.

(A) 2 (B) 3
) 4 . (D) 1

(1/8in10°)-V3sec10° F 7H ¥ :

(A) 2 ~ (B) 3
() 4 D) 1

A helicopter is flying above a horizontal ;;lane. The angle of depression of two

consecutive mile stones at plane in opposite/directions are x and y respectively.

The height of helicopter is :

tanxtany . _ (B) tanx+tany

(A) l+tanxtany tanx—tany
D

(C) tanx+tany ) tanx+3tany

@ﬁmmmmﬁmﬁmﬁlmmﬁwﬁaﬁmﬁr@aﬁa
w%wmm xﬂmyt'“"maﬁ#‘ﬂt

" ‘tanx+tan
(A) sanxtany (B) tunx—t.any
l1+tanxtany Y
' tanx +tan y
tanxtany. (D
© tanx+tany ; tAnxdtany
TBC : 23/P/lI—A i k=T S P.T.0,

e (T W e 1”]"._"_-?' T S r——



{4, The aveascf a ﬁght-angléd triangle is x, If its one of the perpendic.u]ar side

is ¥, then length of altitude from right vertex to the hypotenuse 18

2xy B 2::2}' .
(A) ;;y“ +4x° . (B) ﬂy‘ +4x? |
o 222 2::23;2
( y* +4x? ®) Jy?! +4x2

ﬁWﬁﬁWwﬂiﬁx%IQﬁmﬁmmﬂmyiﬂaﬂzﬁﬁﬁﬁﬁﬁ'
T TRIZgs &t oan &1 § 2

2xy 2x2
y
(A) y4 +4x2 (B) o rd®
21}'2 2x2y2 .
© T b T
y +4x ) Jy +4x?

15. If one internal angle of &regtlar polygon is 135°, then the number of diagonals
in the polygon‘is“,
(4) 12 (B) 18
C) 20 (D) 24

R T VR TS T Al ®v 135° €, 99 @gye A faeel =t wem X .

(A) 12 (B) 18
(C) 20 D) 24
8

TBC : 23/P11—A



16. The area of the triangle formed by the straight lines x+¥-4=0, x+2y-10=0
and y=0 is: | _
(A) 10 unit? (B) 14 unit?
(C) 18 unit® (D) 22 unit?
@l x+y-4=0, x+2y-10=0 ¥ y_g % W Eﬁ By =1 dura ¥ -
(A) 10 T - (B) 14 wFE
(C) 18 TFTR° (D) 22 T
17. If x=+3/2, then the value of |

l+x ; 1-x
1+J1+x 1-_Ji-x

» ™ I'-‘-l!
is : . g

Ea—

. . - -Tp'i‘
(A) J3/4 . ®) 1
©2 D 83
-qf‘a x=\/§"21'ﬂa
1+x 1-x

+
1+31+I 1-v1-x

FOUE T :
- (B) 1
(A) J3/4
)y 8/3
(©) 2 S o

9 P.T.0.
TBC : 23/P11—A _



- lue of '1-+-1—+-1 i
18, If 27 =37 =67, then the VATE &0 U+~ g
(A) -2 ® -1
©) 0 D) 1
'qﬁ: 2°=3"=6 , a9 x y 2 *
(A) -2 - B -1
(C) 0 D) 1

19. Ashok speaks truth in 75% and Babulal speaks tmtﬁ in 80% of the cases. In

~what pemenmge of the cases, are they likely to col-atradict each other in stating
the same fact ? .

 (A) 25% , . (B) \20%
(C) 35% (D) 18%
mﬂm%%amwsﬁ%wwmmﬂaﬁhmmﬁwqm@im
iy #3 =1 wfiem ¢ .
) 25% | T B 20%

. (©) 35% \ D) 18%

20. The maximum value of sinx(l+cosx) exist at x =

4) 0 | "~ (B) 3
(©) w2 ) w6
Sinz(1+cosx) 1 Hfigay TH @ A AA W E ?
(A) 0 : (B) /3
©) w2 & D) 6



21.

22.

TBC : 23/P11—A

A committee of 7 membe

rs h
A 5 to be formed from 9 men and 4 women. In
ways can this b |
m | e done whep the committee consists of at most 3

women ?
(A) 1632 :

(B) 1633
(C) 1634

(D) 1635

'93'5“““14mﬁﬁﬁ7mﬁaﬁmwwm~nﬁhwﬁmﬁm

3 Hfgen B H TG, TR Fea} YR A @ ¥ ?
(A) 1632 B) 1633
(C) 1634 (D)1635

A problem of mathematics is giyén, to,the three students Ram, Shyam and

Mohan whose chances of solving it, are 1/2, 1/3 and 1/4 respectively. Then the

probability that the problem lis solved, is :

(A) 1/4 ®) 12

©) 3/4 . M 1

m,mamtﬁsﬂaﬁﬁﬁﬁ*mam?

13 aW 1/4 ¥ 79 WO & T W OH

o i % wEn @A
e gﬁ%aﬂmﬂmm,

IR ET % )

(B) 172 i
(A) 14

(D) 1
(C) 3/4 .

11 P.T.O.



3- I { I

If they start in opposite direction from the same point, then when will
hour. ey

they meet for the first time at the starting point ?

(A) 30 minutes (B) 45 minutes

(C) 60 minutes (D) 72 minutes

(A) 30 ﬁnz-ﬁ

(C) 60 faez 4 (@ 92 e i

24. A Passenger train starts with 5 speed

of 40 km/h such that its Speed increases

every hour by 10 km/h, Ip how many hours will it cover 185 km ?

(B) 13/4 hours
(C) 7/2 hours (D) 15/4 hours
Iﬁmﬁﬂr@wﬁrﬁtwﬁmﬁmﬁmﬁﬂm'ﬂﬁﬁﬁﬁ?swaﬁwq

lﬂﬁq}fmmm%ﬁag;ﬁgla—glﬁmﬁﬁW%ﬁmwﬁ?

(A) 3 w2 (B) 13/4 w2

TBC: 23/p11—aA -



o5 A sum of money is sufficient tq pay N
ikhil’s salary

26.

for 10 days and Praveen’s

both for '
HIMEXAM.COM
(A) 13 days
(B) 15 days
(C) 15/2 days ' : {
‘ (D) 20 days

v &1 P e '
% A wm ffee # 10 fex % & feg vt & of vl & 30 73
& forq wai@ #1 SH @ femd g @ adt PR aE o whw @m 2

(A) 13 i3 ®) 1504

(C) 15/2 f&A ' @), 20 <

The earth revolves in its axisfin 24 hours. How much angle does it move in

4 hours and 12 minutes!”

(A) 63° (B) 60°

(D) 65°
qnﬁﬁldﬂﬂilzfﬁ?zﬁqﬂ'}lﬁﬁﬂmaﬂw

(C) 64°

geﬁiaﬁaaﬁ:mﬁ&t%mﬂﬁ

@ & ?
(A) 63° (B) 60°
(C) 64° (D) 65°
TBC : 23/P11—A o : T,

B 4 ,:,.I..- e
= = A ﬁ.ﬂﬂlmm



97, If E is any point on median AD of a 4 ABC (ie. D is a mid-point of B(?J' then
consider the following two OPServations
(I) Arca of A ABC = Area of A ACE ‘ (A%}
(II) These two triangles {__ig@_and A ACE are congruent too.
Which one of the following 18 true ?
(A) Only (D) - (B) Only (II)
(C) Both (I) and (II) (D), Neither (I) nor (II)
A ABC ! wifizr AD R @ % E % (D, BC 91 e forg &), 79 i & orrsis
T faemoig § .
(DA ABC =1 &3%a = A ACE ®1 dwe
(ID A i = AABcamaACEuahm ﬁ%u
f= 4 | = Th g ¢ ?

(A) Fad (1) (B) ®aw (I1)

Ser g (1) am () (D) 7 ® @ T @
The value of sin g‘.sin %‘-.sin'%’-‘.sinf;—“ s : |

) % | ® %

(©) % ) (D) -i— |

sing.sin%.sin%.sin% Calk: -4

1 1
3 1
TBC': 23/PNI1—A 14




20, Two cirel

30.

en of rndiun b ¢
m nnd 3
em intorgect nt two distinct points and their

controd are 4 em npart Th
8 0 ]"“[—llh
of the common chord is :

(A) 3 cm (B)
4 cm

(C) b em (D)
6 cm
p o nd 3ﬂ1ﬂwmﬁ7{ﬂ,ﬂﬁw§3ﬁﬂmﬂﬁaﬂ13ﬁﬁﬂ:4
g,mﬂﬁﬂﬁﬂﬂﬁ?ﬁmﬂﬁmg. e
(A) 3 ah BY 4 Al

c) 65 Al
(€) B (D) 6 Tt
idpoints of sides AB, BC, CD

—

The qundrilnturﬂl formed by joining m and DA

-

of the qumlrilamrnl ABCD is a :

(A) rhombus

(B) parallelogram

(C) trapezium but not parallelogram

trapezium

(D) quadrilnternl put not a
cp a4l DA ® W

s ABCD 1 g&naﬂ'AB. BC,

s °F

16 P-T.O‘

T



31. In which of the following triangles, Centroid and orthocentre are "“imiéeﬂt ?
(A) Right-angled triangle (B) Equilateral triangle
(C) Isosceles triangle (D) Scalene tﬁanﬁlﬂ
Fer 3 9 S e 4, $59 9 e o § 7
(A) FHSIT e (B) wwarg fyw
(C) wfzamg Fy= _ (]I:)] ﬁmm ﬁ“ﬁ

32. If O is any point inside the triangle ABC afd AO
e, ——

1§ true ?
BD CE_AF . '® DG CE_aF
— s T - el =

Y BCc*EAFp 1 B BD*Ea *F5 =1
BD EA FB BD OA AF
— e — —__:-_1 e

© BC*CE*AR D) 5c*6p*Fg =

iz 0, ﬁgm%ﬂ%ﬁ?@ﬁﬁ%ﬂmﬁo BO 391 CO ywi g, CA 791 AB
W Her: fagD EamFmﬁaﬁ%mﬁwuﬁ?mmm%)/c

D _CE_AF | DC CE AF géhb
—x == _
“QATAB;EA FB ! ®) Bp*Ea *Fg =1 ' .

BD EA_FB _ BD OA_AF
‘©) De*CE*aF ! ® B¢ op *FE <!

TBC: 23/PN1—A 16



3.\ A monkey climbs 30 feot : AT A
@ at the beglnmng of each hour and restg for a while

he slips ba
when he slip ck .20 feet before he again starts climbing in the beginning

ext hour,
of the n If he begma his ascont o4 8 AM, at what time till he first

touch a flag at 120 feet from the ground ?

H||\/|EXA|\/| COM
(A) 4 PM g (B) 5 PM

(C) 6 PM (D) 7 PM

@Wmﬂ@ﬁﬂwmmmmmmﬁm
m%ﬁﬂmﬂaﬁ%wﬁuwﬁaﬁmmgmmﬁamtmaﬁlzo

qﬁz ikl HeM ﬂ ﬁm 9 W ogam 2 : o
irm - “(B) /6.PM ’\%‘" Fo a2
(C) 6 PM. . O, PeM AE A

L.'M./ In a certain language ‘tom kun sad’ means dogs are barking, ‘kun jo map’ means

dogs and horses and ‘mut tom’ke’ means donkeys are mad. Which word in that

language .means ‘barking’ ? ' ,1__)1..59

(A) sad | (B) kun ) L=\ 27
' . ! N ' * /'/_,_//
(C) tom (D) jo - == g

frdt fafrem e ¥ ‘tom kun snd %1 AAcTd dogs are barkmg, ‘kuan map Fi
Hde™ dogs and hnrses a4ql ‘mut tom kﬂ‘ 1 Hae™ dunku}?’s are mad BEH VT

# = ‘barking’ @ fa ¥R ¥

i i ' ™
) (D) jq : [D /
(C) tom - X X 5 w
) o)
TRC : 23/P/TI—A 1 \ 3) T/’
s
(o



_/‘é The missing term in t-he nun;:er series .

~

37,

- TBC: 23!P:‘II———A

7, 11 18, 29 4? — 123, 199

15 .
,

(A) 70 ' \LB)” 76 W A
1¢"‘" - o - thY

(C) 84 . ) 102 e

‘ﬂ'ﬂﬁ' \ﬁ’f" q-j.;- %

7,11, 18, 29, 47, -, 123, 199

§ aufem sfw .

A 70 (B) 76

(C) 84 | D) 102 =N

If ‘Captailj’ is related to ‘soldier’, then/in, the same way as ‘leader’ is related
to : '

(A) Chief Minister chair WH) party

(C) vote (D) follower

W He’ A A A L, R we A Y TR
(A) et wHf B ™

©m ¢ D) ¥R

The(odd one’ pair among given is :

(A) Shoe : Leather | (B) Iron : Rod

(©) Table : Wood @) Shirt : Fabric

———

ﬁqﬂﬁaﬂmwf&mt?

(A) Sh'gn Leather \({Imr;:

(©) T%ble : wé% @) Shirt : Fabric

efo



a8, In a row of boys, Tushar ;
SHAr 18 13th from the jeft and Ram is 17th from the right.

If in this row, Tushar ig ot (TR
) 18 11th from the right, then the position of Ram from

the left is :

A) 12th

( | (B) - 10th
_ Tth :

(© . (D) éth

) :
T wqﬁﬁﬂ‘wm'\e‘lﬁtammmﬁﬂlmtmﬁwﬁmﬁ

Jnat e '
g < LA e gt 2 1 —
(C) Tth ‘(D) 6th . all

Read the following informat.ilon carefully and answer Q. No. 39 to 42 given
below : | '

Six friends A, B, C, D, E and F are sitfing\in closed circle facing the centre.
E is to the left of D and C is between A and B. F is between E and A.
Then : i _

f= gEn = m@mnﬁ;ﬁ-maﬁﬁﬁmmﬁmmﬁﬂ%mﬂm :
B: fi3 A, B, C, D,EﬂmFﬁmmﬁﬁ_ﬂmﬁamm—m
a8 E E,.D%HTEHWWC,AWBQE‘H‘EEI F,Edm A & €9

A | @ A
39. W_hu is on the left of B ? E

- (B) C A D @
(A) A , o D 3 Fﬁ b B
CE T | Ly A
Ba a7 & ? | ; ! Pas \:?,
(A) A . 5 fc‘) éj:) )y

_ (D)

(C) E A C A

A _

; 19 7,

TBC : 23/PMI—AF @% Pt - @ma
, e‘ ‘ v - (:_, o




f
40. Who is on the right of C*

w5

(A) A

e E D) F
cCaedl #F R 7
(A) A (B) B
) E (D) F
41. Who is on the third left of D ?
(4) A . ® 8
AAe : NG
DHF A 2 ()
) A RSN . (B) B
ke A & . o c
42. Who is sitting’ Detween Band C 7
) A D L
(B) A

- AC) A, E |
\,‘B)/ No one
Bam ¢3 ma 3 4y L

(A) A, D |
(B) A
© A E |
() ¢ T

TBC : 23P/II_A
| . & 20



43. 1f + stands for di@\—/
E_ ONy+ stands for myqiplication, [x_stands for subtraction.)

and - stands for additj :
i ttion, which ong of tth is correct ?

(A) 18 £ 6 -7 +5x2 =29

(B) 18 +6 +7x5-2=18

(C) 18x6+7+5-2=16

M 18 +6 x7+5-2=22
uﬁ+mmﬂm,+www,,wwﬁaw;mwm%.
7 4 4 g9 fassw v ¢ 2

(A) 18 + 6 -7 +5x2=20

(B 18 + 6 = Tx5-2=18

(C) 18 x6 +7 +5-2

16

(D) 18 = 6 x 7+ 5 -2 =22

44. The related letters to complete the Analogy

HM“ZWSN : CFJO : &........
D

(A) YVRM (B) WTPK
T XWTP (D) ZXVT
f= § A @ gafya AER ' 4

ADHM : ZWSN : CFJO - ...

¢

i8 :

F1 FHAA A [0 FE o

(A) YVRM (B) WTPK
(C) XWTP (D) ZXVT \
y o :
TBC : 23/PN1—A ‘ 21 — PTG



45. A .questim; is followed by the two Btatemen;s (M]-:‘
“Has electronic media ir!'lpl"ﬂ-‘-’e"j the classroom teaching 7
Statements :

(I} Electronic media is multisensory based.

(ID TV lessons supplement the classroom teaching.
Which one of the four given Ch_ﬂit‘e:s is correct ?

(A) Only (I) is implicit

(B) Only (II) is implicit

(C) Both (I) and (II) are implicit

(D) Nelither (I) nor (II) is implicit ‘ i
Wmamﬁmamm}mmmm%l'

T R ifew A B @ SEmA § guR gen g
(1) Tawlfrw e agaad, stf %)

(D) TV =1 913 H&1 F oy w1 fawew &)

P d QW e w2

(A) @ae () I=fifen &

(B) Saw (I ififen &

(C) ¥ (D 741 (II) r=ififeq &

M 3D T A AN srafifeg 3

o

TBC: 23/P11—A 29



46, Tho avorage of four cony,
— e Cutivo Ddd nu
mbors

47.

| is b4. Then the product of first
and third numbeor is . l

A) 2907
( (B) 2805

(C) 2?05, D) 2650

W T fran Jens w1 shew 54 %) g g am AR vom ™ oE €

(A) 2907 [B}. 2805

(C) 2705 lm) 2650

In a certain way, P_{RK is related to FEAR, then in the s;ame waym
in ll‘nlntnd to : R

(A) TREACHERY 3 l‘—tE)/TRUST

(C) VICTORY, -~ (D) MONEY '

& fifew 70 @ DARK, FEAR @ ifd ¥, 7 wt wi% 3 HONESTY wfa

101
(A) TREACHERY ¥ (B) TRUST 4
(C) VICTORY (D) MONEY @

TBC : 23/P/1I—A 23 - PT.QO,

- ' — T T —



' ) in the g
, 26th is Friday. The day of August_lf)th mn 2% Bamg
48. In a leap year,%-——-&_.______ s

year is :
(A) Monday ' (B) Wednesday
(C) Thursday (D) Sunday

T Afvad b, st 26 F UFIR R i qd F 15 e w1 S 23 @m )

(A) ¥R (B) gvar
©) TR | D) R
49. Total number'qf é.quares in a Chessb.oard is :
(A) 64 i SECIE (B) 204
© 256 N - . (D) 41024

(A) 64 ' (B) - 204
© 256 o, | . (D 1024

\_}(f How many degrees will\the minute hand move in 7 minutes 9
(A) 14° E - (B) 28°
© s | D) 42°
fqazmélgéqflmﬁﬁmﬁdmﬁﬁ-?

. (A) 14° . wg) 26°

(C) 35° | R (D) 42° §€* . :}’J‘.,;J(’

TBC:23pq—A 24



ol.

52.

There are three I:‘"“t""ﬂlmrs of °qual
a

d @pacity. First container is half full, the
seoon

container ig one-thlrd
and third 18 empty. If all the watler in the enntainers

is dmded equnll am
Y among the containers, whyt part of the third container will

e h‘:;aﬁ
(A) 1/3 o’
~ (B) 929 \’ ;

(C) 5/18 o u

ww%m‘wﬁlmmmwt,'@aww-ﬁmmtmm

mﬁﬁ%tﬂﬁﬂ\ﬂmﬁmmﬁmgﬁmﬁﬁmwﬁmmm
g, T AR I T e wm w2

(A) /3 (B) 29

(C) 518 (D), V6

The width of a rectangular hall 1§"3/4 of its length. If the area of the hall
i5-300 sq.m, then the différencé between its length and width is :

(A) 5 m ' | (B) 6m

(C) Tm ' D) 8 m

T AR FR w e Ie TE@n w34 ¥ i s w dwwa 300 ot

¥, @ 3uF awr qw deR W AR ¥
HIMEXAM.COM

(A) 5 =. ~ (B) 6 . < 3"’1
©) 7 Th. ' M) 8 . 208
TBC : 23/P/1I—A 25 PTO’



| to 2 PM on
@ Ajay and Uday are friends. They decide to mect between 1 PM

ill not wait
a gwenfﬁxed day. There i8 & condition that whoover arrives fi rst W
will mee
for the nther for more than 156 minutes, The probabjlity that they t
on that day is :

(A) 14 - (B) 116
(C) 7716 (D) 9/16

99 9 R A fx 1 3 1 PM 3w 2 pM 2 @t faafifraa &3 fae &1 o
FAE W 0w v RN W v amdm aw g@tS 15 R § R faen
T T 7@ W R A A ey @ mirmd £ '

(A) 1/4 , ‘(B{lflﬁ
(C) 7116 | M) 9/16

54. After giving two successive disc%_:uunts of 10% and 20%, the selling price of an

article is Rs. 216. Theh the market price is :

(A) Rs. 250 . (B) Rs. 300

(C) Rs. 350 (D) Rs. 400

10% g1 20% 1 A TR T D R R, Mwmﬁmmzm% @
-n--__—_'—‘—l——._

TR g ¥ :

(A) 250 <. | (B) 300 =

(C) 350 %. (D) 400 . aol”

| ~(
TBC : 23/P/I]—A 2 Wjﬁ; | glﬁ"( ¥

-30' I i '}l‘“f‘

i "
aé:“") [ﬂ,j E}oﬂ gﬂ’ 4




55. - If the number of diagonals of an ™’ sided polygon is 50% higher than its number
of sides, then the polygon is g :

(A) quadrilateral

(B) square
(C) hexagon D)  octagon
ﬂﬁanywa@wﬂﬁmﬂﬁm mwaﬁﬂﬁmnﬁﬂ%a Sl
%, 7@ G -
(A) 9g§ , (B i @
(€) VT D) e
56. In a certain way, 137 + 276 = 435, then in the same way, 731 + 672 will
be equal to :
(A) 584 (B) 1385 |
(C) 1623 , (D)_/1531 )
firh fifesm W@ @, 137 + 276 = 435%m3ﬁ3ﬂ%ﬂ731+672ﬁ=‘ﬁ@
fFes wom ¥ 2 ~ ‘ s .
(A) 584 ) ® 1385 it : ]
‘ (C) 1623 D 1531 == Tad
==
\@}A number is increased bylg@ and then decreased by 10%. Then the
number : -_ v - : : &
; .1"5’1'
\ (AT does not change ' _(B) decrease by 1%. : "fﬁ% -
(C) decrease by 2% (D) decrease by 25% }\,‘l d
& wen f gew 10%aaaﬂﬁm%amh1 10% wert st %1 w9 e _\_\j_
(&) # 9 Teem 7@ am (B) 1% = Srn i .
(C) 2% = Wit D) 25% U2 i
~ TBC: 23/PII—A 97
' PTo

Eé E’)‘.Eq‘\@ O oy




t\ﬁﬁluw many triangles are thore in the figure PQRS ?

] : S, —4 A

R
v 4 |
8 (B) 10
\(B)/l:‘z j D) 16
ik fed my faw PQRS # faay i & )
P Q
S R
(A) 8 - (B) 10 .
() 12 . (D 16
TBC : 23/P/11—A ' 28




59. Zlnc and copper are in the ratio of 6 : 3 in 200 gm of an alloy. How much

0°
— R
grams of copper should be added to make thu rutm 3 _f’_ ; .U i ]
— ———— — C 10 make | ot
1 f’J"’/
(A) _1335 | (B) 72 . :
(C) 66 - (D) 200

2oomﬁﬂﬂfﬁﬁmamm5:3%amﬁg;gaﬁﬁm=ﬁmﬁafmfmm
g fF IR 3 : 5 ¥ Wm 2
HIMEXAM.COM
1 _ i
(A) 1335 "(B) 72

(C) 66 i D 200

2 _ !
@geavier coins are costlier. Ram’s coin ig heavier than Mohan’s coin and costlier

than Ramesh’s. Naresh’s coin is costlier'than Yogesh's. Ramesh’s coin is costlier

than Mohan’s. The owner of the costher

coin is : °
(A) Naresh (B) Ram
T Pigene ™
(C) Ramesh (D) Yogesh e e

s . N7 Y -
wmmm%%fﬂﬂ%ﬂ Jamtﬁm%ﬁﬁ:ﬁm
%lwmfﬂmwﬁm%ﬁﬁ%ﬂm%ltﬁmmﬁm%a?

o Q wgy
%:mmﬁﬁmm%

N _,ﬂ,@~
@% | @tm

| _ CiEwy ¥
(C) W (1:!) Ihﬁ?{l @};
I'I'BC:QM’/H—-A 29 ( j

© ©eo |® @& A e S

. y - J‘ ___- __.; e — P
" y Cwa T T B e e e L TR e
R e 2 R T T - -



Read the following information carefully and answer questions (Q NOS 61-g5)

given below :

%
() P + Q means P is the father of Q+ m )
?( mo)

Gi) P — Q means P. is the mother of Q.—

(i) P x Q means P is the brother of 'Q.X fD
(iv) P + Q means P is the sister of Q.

() P * Q means P is the son of Q.

(i) P @ Q means P is the daughter of Q. - e
ﬁﬂﬁ@amﬁmﬁqﬁmmmﬁﬁmﬁ (3. '%. 61-65) F IW Ty .
@) P+ Qw 5P, QW fm &1 i o2
@ P-QF 34 P, Q =t °an B

@) Px Q1 3 P, Q 7 "TI'&;-%I_

(iv) P = Q'&;‘IIHEfP,QﬁEIE'—T%I

w) P*Q 34 P,_Qa&I S T | B@.
o) »

o e

;QJL"‘ Sen ',,H"k gﬂECC

61. How is A related to F in the given expression A@B +C* D-E:= F ?

“(A) Brother o uf{ Sister L/

(i) P@E QTP A T - .

(C) Father (D) Mother : X
axﬁmmA@B+c D-E+F%# A F3 3 d&fig & » &0"{
(A) mé Sl .. (B) ®®& Jﬁg”ﬁ/’\v‘if
' C 1
(C) fir (D) T N0 Py gé;é
: | ‘ L7y %7“\%
TBC : 23/P11—A - 30 Yo ? o :
. %o 7%

C &

Q Y,
w.

LAY




R T g ow W
L] i— ?
\Aow is A related to F in the given expression A ¥ +Cx D= E@F

k} k&,’
/
(A) Brﬂther L(Bj ther ij,\ %{' ‘41{ ¢‘€'

\(g)/Huaband (D) Smter

s A+B+CxD+E@F 4, A,F@mmaaﬂm%?

(A) ST (B) fam
(© qﬁ @) =& /"Q /’“ "% D
63. How is F related to A in the. given expression A @ ﬂ C + D ) x E _@ Ij‘ ?
i B st YA X
(A) Mother (B) Slst,ert =0 e O
| l_
(C) Grand-mother _ \/(D'} Aunt :
AR A@BxC+DxE@FH, P Aﬂaﬁmﬁm% i
(&) = ' (B) A
{C) TR (D) </
64. How is A related to F'in the given expression. /Qh %% E @ F ?
-______-d'_‘_‘—'—-—-___._
‘\
(A) Son (B) Fath U \j\\j\\
: ather ,,Q’f"’t G“ g.N’
(C) Brother \,FB'J/gon in-law
aﬁmﬁaA+Bxc iD * E@FﬁAFﬁ%ﬁﬂaﬁm%)
(A) & B) fum
<
(C .
) QO ®) R
a Qp-nt
TBC:23PM—p - @f ‘
=% 2 LA
" ) ®p“"* B =Y
©) F\ 31(5} B v

_




6h.
(A) Brother (B) Sister
(C) Aun% '1'*& (D) Cousin
g 2T xE - FHF, R)a fow s s @ 7
(A) WITE {%-‘ E-"‘%M% e ‘B*)/HEFT F%\%f_i’
© & A- Qﬁ’: st @ #fm E}\,a;‘s r g
All the surfaces @f a @lié\\ cuge’ have e-; coloured red and then cut and
subdmded into 64 equal sized cubes. Now, answer the following questions
(66-70) based on this solid cube related information:
maﬂminﬁwmmémﬁﬁ@%mwwm&mq
fawfaa &1 e 31w 4. w7o$ma@@_$mmmmi

66.- The number of cubes which have their ‘three surface coloured is :

(A) 4 s Y 20 Y
(C) 16 - ‘ (D) 24

@ 0 oy A Al den ¥

a4 B) 8

© 16 D) 24.

67. How many cubes are there which do not have any of their surfnce coloured ?
(A) 0 (B 8 g
(C) 16 (D) 24
frn @ g IS TR 9 gen feah § 2
(A) 0 - (B) 8
(C) 16 (D) 24

TBC : 23/P/TI—A 32

, : | :
How F is related to A in the given expression A* B x C+ D * E .F -




68.  How many €885 are there which gy |

Wo of their surfaces coloured with red
on the opposite surface 9
(A) 0 (B) ¢
© 8 D) 19
@Hﬁﬁmm’ﬁ%ﬁ?@ﬁﬁwﬁa%mﬁg ?
(A) 0 | (B) ¢
(€) 8 | D) 19
- 69. How many cubes élre there with Just one surface colotired ?
A) 4 T
(C) 16 (D) 24
' @Tﬁﬁ%?ﬂﬁ?—ﬁﬁmfﬁ#}g N
(4) 4 (B)/ 8
(€) 16 (D) 24
70. How many cubes are thére with two adjacent surfaces colored in red and rest
of the surfaces with, fo colours ?
(A) 16 I (B) 24
(C) 48 (D) 32
ﬂmmiﬁq@aﬂtﬁmmﬁﬁméqﬁaﬁmﬁﬁ% ?
(A) 16 ' B) 24
(0 48 D) 32
TBC: 23/pq1_a "33
P-T.().

%



A

. The missing term in the following figure is ;

(A) 72

(C) 68 . (D) 66

R A o A e w Y 2

348 b 18
172 40
\;/

A) 712 ®) 84
(C) 68 D) 66
TBC : 23/P/I1—A ‘
34
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(A) 35 paise

(C) 50 paise -
(D) 56 paise

ﬁmﬁm20%maﬁw%mﬁmﬁﬁ40'@ﬁzoﬁm@fm
%laadaiﬁuaggm%:

(A) 35 99 | U e
(C) 50 ¥4 | R 4

73. A square and an equilateral triangle Ao Nrawn o' thesame base. The ratio

of their élreas 1s :
(A) 2:1 (B) 1:2

©) V3:1 _ . D) 4:43

T a qur ww weeTg e @A R R Rl 5w ¥ @ 2 @ dwww

F IUE T

@B 1:2
(A) 2:1 !

(D) 4:43
(C) J3:1

- 3 J P.T.O.
TBC : 23/PI1—A . iy |




' tively. The sup
74. The sum and product of two numbers are 12 and 35 resPeC

of their reciprocals will be :

(A) 1/35 (B) 8/35

(C) 7/32 (D) 12/35

2 wemel w1 e 9 TH FAV: 12 g 35 ¥ a9 FH AHT T A W
(A) 1/35 - ‘ (B) 8/35 ¥
©) 7132 @ 1235

75. If the income tax is increased by 19%, the net income is reduced by 1%. The

rate of income tax is :

&) 6% | (B) .'5%

©) 4% | | D) 3%

M T 19% 99 fean g 7w g I 1%:mam%| ST 9w
(A) 6% | | B) 5% |

©) 4% ‘ N 5y

TBC : 23/P/II—A . Sl ple




classroom, there 4 : - |
76. In 2 e certain MUmber of benches. If 6 students are made

it on a bench, then '
to si to accommoqat, all of them, one more bench is needed.

How

if 7 stu ' . '
ever, dents are made to gj on a bench, then after accommodating

all of tbem, Space for 5 studentg 18 left. Thep the total number of students

in the class is :

(A) 30 (B) 42

4

© 72 o (D),.84"

wmmﬁ,ﬁﬁﬁﬁ@rﬁﬁmiuﬁ@ﬁamsﬁmﬁﬁaﬁaﬁjmm

Wit faefeidl =) S @ fife Lol 3 = T Ted ¥1 s s 7 femd T

Fo W fred o e B 4R @ 9K 5 WH = §) aw s § frafdd =

| | oot
| | | u/ PP ke
| 42:. . g | .
(4) 30 R i | sy et LA
D) 84 F )‘E
(C) 72 ( _' B i
37 P.T.O
TBC : 23/PAI—A



istry, Ph
One of the seven subjects like Mathematlcs Zoologys Botanys Chem' ry -‘!'slcs

from Mon
Enghsh and Statistics 1s taught ope day each in the week starting day
hursday- English is taugh,

and ending on Sunday. Chemlstry is taught on T
. Engllsh 15 nEIthQr

the day immediately next to the day when Zoology is taught
taught on Tuesday nor on Saturday. Only one lecture is held between Chﬁmlstr:'r

and Botany. Two lectures are scheduled between Mathematics and Zonlogy'
on this information,

Statistics is neither taught on Monday nor Sunday. Based

answer the questions 7 7-80

mﬁmaﬁn&m Wﬁaﬁ mm:[ﬁaaﬁ sifer_faw, ST A,
mﬁmaﬁmﬁq ﬁﬁmammzﬁm@mﬁm
%,@m%iﬁmﬁmwaﬁmmm,mﬁﬁﬁmﬁmm
%, 39 I o fen v STt ¥ s % @ WA SR T @ WFER W v
St ¥ | T e e St fA B die e T o ¥ T e SR
F d A dFR §1 Wiemw 1 @ @mar ok T @ FER W e @ ) 59 g

F AYUR W WA §. 7780 /W AR . _
s{i’h}’sics lecture is scheduled on : ‘ | . /
Monday (B) Tuesday —
(C) Wednesday . (D) Thursday =~ | ' 5{\:“"‘(—)3 |
i faam #1 o 9 2 . ‘ c"(-’ o J
; _ i A %«
(4) HHR (B) WTEER @Uﬂ&@; y
) - \_.,/‘, 4!_
© 3o o T @
. ebﬂ%}%( \ ?
TBC : 23/P/I—A s %\gﬁ\\;x ey
N
S TR



(A 1 (B) 2
16" The subject taught on Saturday, is -
_'ﬁ Botany (B) Statistics
(C) Mathematics B Zaology

&) T o o (B). ST
(C) oo ° ' C D) IgEEE
~j0./ Statistics is taught on *
(A) Tuesday | Fﬂ(_‘(%"“esday
(C) Thursday @’/ Friday
e e NEPQUD
U () vy 3  ® Tmw
© T ®) IFEW RN
TBC: 23/Pm1—A .

. P.T_O.
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PR 1 is the fact that

One of the findings of the research Into successful ]caderbhipf—fhi

no matter
respect is always a two-Way Street. No matior how powerful you are,
what your experience, skills and accomplishments, you will not be respected

by others if you consistently treat them disrespectfully. Friendliness i.e. treating
_—.-—_‘-_‘___N‘—‘w—_‘_l

others politely and showing interesgt in them - is a way of showing your respect

for other people, and in return they respect you. If as a mariager you are respected
your preventive maintenance strategy will be accepted> as a sincere attempt

to resolve problems rather than g mean-spirited attempt to cause problems.

As important as friendliness is, I want goumake sure you are not misled into
believing that friendliness will replage/or'eorrect poor management. I have seen
effective managers who didn’t sise this friendliness element but could have been
more eH‘ectwe if they dideuse it. I have seen very friendly Mmanagers who were
ineffective because they were not:doing effective management things. In other
words, managers whp intervene effectively in a friendly Way are always more
effective than managers who mtel'Vene effectively in 5 non- frlendly “Iray
‘Malntammg a friendly relationship is another part of malntammg work

performance. It also helps you avmd having people try to hurt yoy because

they don’ t like you.

TBC: 23/P/11—A ' 40



¢ in tho findip :
a1, whi H in YORpoe b
: Constul Jondorship ?

() Renpoct dopondn oy ), wkilln o 1), -
"o loadorshi
, L

N Rospect comon oyy, of rospoct

© Respoct dependg upon: achioyey, L
; Ny

() Respecet depends upon purpogg

g2. The pr(iVUIELIYunHunE;EmL(. Blrategy uged by the réspectéd manager is :

—

(A) An attempt to become punctual

(B) An attempt to cause trouble’
/-

4C) An attempt to resolve probléms

(D) An attempt to becom¢” sérious

83. The above pm’:;sage highiighta which of the following features of a successfu])

7

_leadership ?

\_AAY Reciprocity of a leader

(B) Dependence of the leader
(C) Freedom of the leader

(D) Unconcern of the leader

41 P.T.O
TBC : 23/P11—A '



: ‘ means ;
ling to the nbove pansago in Manngoment, Friendlincss i
84, According to U | it

petivo manngomont,
(A) Corrocting inoflec

\(B) iloplucinn poor manfgoement

(C) Making managoment inoffoctivo
(D) Making management effective
85. 'i‘ho contral iden of the passage is ;
(A) Friendliness improves work eth'otqa
(B) Friendliness is obnoxious
(C) Friendliness avoids insults
(D) Friendliness is detrimental to: management
86. Communication is possible onlyywhen both the et and the receiver of

——

the message know the danguage code.

\J(A')/'I‘ransmittex_- \ , (B) Transgender
(C) Curator " (D) - Listener
87. Communicatjon With one’s own self is called .................
k—\

(A) auto-informatjop (B) renunciation

(C) Interng| monologye \,(‘ﬂ{ internal dialog'ue

L]

TBC : 23/P/TI—A
42




)

ommunica .
88. A goud C tor b{!glna hi i
. Presentation with a :
(A) ropotitive phrase

(B)

Ice-breaker

(D) Complex question

[ tho foll '
89, Which © owing factorg is responmhle relatively for faster or

prompt

_ —

[ ——e

commumcat:on of culture ip cities ?
—0¢ In ¢

Less Physical | '
(A) 4 abour (B) Gossiping

y.

() Multimedia D) More wEm A4

90. In communication the term Grapevine is ﬁééd for :
"‘————-—l_,___ d

(A) Formal communication

(B) Informal communication

(C) Written communication

(D) Oral communieation

Fill in the blanks with correct option :

L )

ather accurately.

1. Nobody can .................. the We
B) Forcaste
(A) Forcast (
"{‘C// ( (D) Forecasted
) Forecast
43
TBC:: 23/p/11—a

P.T.O.



——

92.

93.

95.

96.

the wal] ?

Do not lean .....oeeesess""™
(A) for (BT~ against

(© by (D) at

A person who has suddenly ﬁﬁen from low rank to wealth am

1 AP :
(A) outsmart - (B) kickstart =
(C) .jumpstart D) upstart

This is the .....ccceeeeveeenne pasta I've ever eaten:

(A) tastiest

(C) more tastiest ' (D)

My frienci and his father often ..............
&

(A) goes ' (B)

'(G')/»’vent (D)

In today’s newspaper, I have read abdut a
. e e c_—/_\

his bmtize.r.
(A) Patricide (B
(C) Regicide | . )

TBC : 23/P11—A 14

\(BJ_ rhost tastiest

proved tasty

........ to England.

g0

shall go

' ]

................. where one man murdered

Homicide

Fratricide



o7 [ am tired because I

LT
"""""
......
LT

my d&ncing since morning without a break.

(A) have been Practising B)
am practicing

(C) am practising -
\{D)” have been practicing

8. They ..ceevererianennne. for her since morning.
K
were waiting *~ (B) are waiting
(C) wait

D) have been/Waiting

99. Ajay m___kf* washes utensils, does his ho-mework and ...ooeevveeeennnee -
-___‘—‘——j;——'-

—

(A) relaxing than (_B) than relaxing

\_(B)/then relaxes (D) then is relaxing

100. Hoping not to be disttirbed, I relaxed in my easy chair to read the

book ... 4

(A) I won in a competition

(B) I had won in a competition

(©) 1 have won in competition

(D) 1 had to win in a competition | R

45
TBC: 23/P/M1—A | P.T.0.
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